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QUESTION 1

After completing a technology refresh, you need to schedule a knowledge transfer with a customer. The customer asks

you to address a number of topics during the meeting.

In this scenario, which two topics would be appropriate to address? (Choose two.)
A. performing database application data migrations

B. logging the customer support calls

C. accessing internal NetApp KB articles

D. registering for access to the NetApp Support site

Correct Answer: AD

QUESTION 2

A customer has a current AFF ASA A700 cluster and they want to expand the cluster by adding a second AFF ASA
A700 HA pair.

In this scenario, which step would be required to accomplish this task?

A. Install a BES-53248 cluster switch and convert the AFF ASA A700 from a switchless to switch cluster.
B. Enable ALUA between the two HA pairs to allow cluster backend traffic.

C. The customer will need to create a separate cluster for the second AFF ASA A700 pair.

D. Install a Brocade FC switch and create zoning between the original cluster and the new cluster.

Correct Answer: A

QUESTION 3

You have an AFF All SAN Array (ASA) cluster that is running ONTAP 9.7. The cluster is configured for Active Directory

domain controller access using a domain tunnel.

In this scenario, which two licenses are enabled on the cluster? (Choose two.)
A.iSCSI

B. CIFS

C. NVMe

D. FCP

Correct Answer: BD
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QUESTION 4

Click the Exhibit button.

Slot 2
N

You are installing a 2-node AFF A400 switchless cluster. You have cabled the management network to the eOM port.
NetApp also recommends cabling to a redundant management network switch.

Referring to the exhibit, to which port should the redundant management network be cabled?
A.3
B.2
C.1
D.4

Correct Answer: D

QUESTION 5

In ONTAP 9.7 software, how many different replicated databases (RDBs) exist per node?
A2

B.5

C.3

D.4

Correct Answer: B

Reference: https://www.storagefreak.net/2017/08/netapp-cdot-ontap-9-rdb-and-cluster-replication-ring

QUESTION 6

Click the Exhibit button.
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clusterl::> network device-discovery show

Node/ Local Discovered
Protocol Port Device Interface Platform
nodel/cdp
eda switchA-NX.netapp.com(S3I142311PD)
el/1/1-4 N3RK-C3132Q-V
eBa switchA-NX.netapp.com(38I142311PD)
el/2/1-4 N3R-C31320Q-V
node2/cdp
eda switchB-NX.netapp.com(33I142311PE)
el/1/1-4 N3K-C3132Q-V
e8a switchB-NX.netapp.com(S3I142311PE)
el/2/1-4 N3R-C31320-V

You are reviewing the setup of a recently installed FAS9000 switched cluster. As shown in the exhibit, the cluster
interconnects are connected to a pair of Cisco Nexus 3132Q-V 40 Gb ports.

For a high availability, which ports should swap Ethernet cables?
A. Swap nodel:e8a and node2:e4a.
B. Swap nodel:.eda and nodel:e8a.
C. Swap node2:ed4a and node2:e8a.
D. Swap nodel:e4a and node2:e4b.

Correct Answer: C

QUESTION 7

Which two SVMs are automatically created during the cluster setup? (Choose two.)
A. admin SVM

B. system SVM

C. node SVM

D. data SVM

Correct Answer: AB

QUESTION 8

You have installed a new 2-node FAS9000 cluster with two external shelves. You want to make sure that each node has
two paths to each disk in the shelves.

How do you verify your configuration?
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A. Use the storage show disk -p command.
B. Use the storage disk option show command.

C. Use the disk show -fields initiator command.

D. Use the sysconfig command.

Correct Answer: C

QUESTION 9

What is the default shelf ID for disk shelves with IOM12 modules?

A. 12

B.01

C.10

D. 00

Correct Answer: D

https://lwww.pass2lead.com/ns0-184.html
2023 Latest pass2lead NS0-184 PDF and VCE dumps Download

Reference: https://docs.netapp.com/platstor/index.jsp?topic=%2Fcom.netapp.doc.hw-ds-sas3-icg% 2FGUID-

F6882D15-2C68-40FC-AAA7-06B227B92377.html

QUESTION 10

Click the Exhibit button.

Supported cables for X1144A
Ethernet 10/40 Gbps (CU)

Mktg Part No
[=] Copper Cables

XQSFP-45FP10G-CUSM
XQSFP-H40G-CUSM-R6

X66100-5
X66120-5
X66120-3
X66100-3

XQSFP-H40G-CU3M-R6

XQSFP-45FP10G-CU3M
| X66100-1

XQSFP-H40G-CUTM-RE

Ethernet 10/40 Gbps [CU)
Images Length v

Mfg Part No

112-00603
112-00605
112-00544
112-00546
112-00545
112-00543
112-00604
112-00602
112-00542
112-00307

5m
5m
5m
Sm
3m
am
3m
3m
im
m

End 1

QSFP+
QSFP+
QSFP+
QSFP+
QSFP+
QSFP+
QSFP+
QSFP+
QSFP+
QSFP+

End 2

4xSFP+
QSFP+
QSFP+
4xSFP+
AxSFP+
QSFP+
QSFP+
4xSFP+
QSFP+
QSFP+

Description

Cable,Cu,Q5FP+/4xSFP+ 40GDE,
Cable,Cu,QSFP+/QSFP+ 40GhHE,!
Cable,Cu40GbE,QSFP+/QSFP+,!
Cable,Cu,40GbE QSFP+/4xSFP+,
Cable,Cu40GbE,QSFP+/4xSFP+,
Cable Cu,40GbE,QSFP+/QSFP+,:
Cable,Cu,QSFP+/QSFP+ 40GbE,:
Cable,Cu, QSFP+/4xSFP+ 40GbE,
Cable,Cu40GbE QSFP+/QSFP+,
Cable,Cu,QSFP+/Q5FP+ 40GbE,

A customer has two Cisco 40GbE data switches. They want to connect the switches to an AFF A400 HA pair. The

switches and the AFF A400 are approximately seven meters apart.

Referring to the exhibit, which two supported actions would allow you to accomplish this task? (Choose two.)

A. Relocate the switches or the AFF A400 so that the distance is less than five meters.
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B. Install 10 meter NetApp supported copper cables.
C. Change the requirement for Ethernet cables.
D. Change the requirement for optical cables.

Correct Answer: BC
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